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 *1000 5,5,5 5000  

 *200

5,5,3 600 3,4,3 800  

 100  

(1) 3 5,5,5   
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216
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216
 (D) 
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216
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1

216
 

 

 

(2) 3  400   

 (A) 
90

216
 (B) 

45

216
 (C) 

15

216
 (D) 

5

216
 (E) 

1

216
 

 

 

(3) 6   

 

 

 

10 5  

1.（   ） O y  

 O P P    

(A) ( )cos , sin − −  

(B) ( )sin ,cos −  

(C) ( )cos ,sin   

(D) ( )sin ,cos   

(E) ( )sin , cos −  

 

 

2.（   ）  2tan52 sin38 sin52 −      

(A) sin52   (B) cos52   (C) tan52   (D) 0   (E) 
 4 

5
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2 0  

1.(  ) 
1 2 3 4

   

 (A) 
1 20 sin sin 1     

(B) 
3 1sin sin   

(C) 
3 2tan tan   

(D) 
4tan 1  −  

(E) 
1 4 3 2cos cos cos cos       

 

 

 

 

2.(  ) ABC 12=AB 5=BC 6=DE 5=CE  

7
tan

3
 =CED    

 (A) 
7

cos
 4 

 =CED  

(B) 4=CD  

(C) 
9

cos
16

 =CDE  

(D) sin sinADE CDE =−   

(E) ADE
135 7

16
 

 

 

 

 

 

3.( ) ABC    

 (A) 
 2 

cos
3

=A
 3 

sin
2

=B 6=AB  

(B) 
 1 

cos
4

= −B 6=AB 7=AC  

(C) 
 1 

cos
4

= −C 6=AB 7=AC  

(D) 40 = B 6=AB 3=AC  

(E) 40 = B 6=AB 7=AC  
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1. sin( 120°) cos( 270°) tan660° ________.  

 

 

 

 

2.  0,O  2 3,25P  
   6,265Q    

OPQ ________.  

 

 

 

 

 

3. 180 270  
 2 

tan
3

 =

( ) ( ) ( ) ( )cos 90 sin 180 cos sin 90   + − + − − =________.  

 

 

 

 

 

4.  L ( )1,cosP  L sin =_______.  

 

 

 

 

 

 

 

5. 135ADC =  75ACB =  5 6AC =  

BC = ________.  

 

 

 

 

 

 

 

 

6. ABC 1AB = 3AC = ABC
 3 

2
BC = ________.  
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7. 20OA= 40OB =

24OP = D AB 2 3AD BD=  

D P ODP =________.  

 
1tan−

 

45 ( )1tan 1−
60 ( )1tan 3−

  

  

 

 

 

 

 

 

8. ABCD 9AB = 24BC =

EF BEF

3BE = 5BF = D ________.   

 
 

 

 

 

 

9. *  

A 2020

0.00008

100 5  

B 2021

9.6

5  

2021 _______. 
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1.  2.  3  

4.  5.  6.  

7.  8.  9.  
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1. B 2. A 
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0  
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1. 
3 3

2

−
 2. 9 3 

5

13
 

4. 
1 5

2

− +
 5. 15 6. 

6
6  

3
或  

7. 
1 3 10

tan
10

−
 
 
 

 8. 3 34  9. 0.012 

 


